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| Let X,, X, ..., X,, ... be iid. from a N(g, 6) distribution in
W which 6 > 0 is unknown. |

1. In general terms, describe an application in which this

particular model might be of interest.
2. Compute the maximum likelihood estimator (MLE) of 6.

3. Obtain the asymptotic distribution of the MLE. Then write

down a (large sample) 95% confidence interval for 6.

4. Two naive estimators of § are given by
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Compare each of these estimators with the MLE by using the
m techniques of large sample theory.
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